Maytag A21CA 04 - TOP COVER UP

" MODELS A21-A22
SPECIFY COLOR IF OTHER THAN WHITE TOP COVER UP
230 ORIGINAL & SERIES 01

217016 2554 22718

\

214813
214000

2307

24068
213718
293719
213720

25415
2-1umss
22937 — — ' ! 211500

213601 ) 210182
2-6154 2-15120— '] i
i [N 211223
-y 2190402
I 204138
Y L 1 v .

210013
{1222
/ “\ \_| ¢20m
« 24080
25058 ~

213016
213081
+2. 14423 /]

213016
290087
“ 2-15068
" \‘ 21765
A e
-

21440

Imn
23013
24512Cm
MEIBCA
24mmCcT

¥’
}
= % 4

= 3 77 2846
25529 — —— — - 7 s
+ 28158 1m0
#2528
+25484
#2.5488

# PARTS FOR A21 ONLY
+ PARTS FOR A22 ONLY

Copyrght 1976 THE MAYIAG COMPANY @ Newton lowa @ Printec In USA

Maytag Commercial Maytag A21CA Washer Parts Parts Diagram 04 - TOP COVER UP

Click on the part number to view part

Original Part Number Replaced By Part Description

001 200846 Clamp - Tub Cover

002 201379 Not Available AGITATOR - BLACK

003 NLA Not Available TUB, INNER

004 201765 Not Available COVER, TUB

005 202515 596669 Clamp, Manifold

006 215058 Pad, Cabinet Bumper

007 205415 279347 Switch-Lid

008 203228 Not Available FEATEF &
USED

009 NLA Not Available STRAP, MOUNTING

010 NLA Not Available CABINET (WHT)

011 204060 Agitator W/Cap, Screw And
Washer

012 204445 Screw And Fastener Assembly

013 NLA Not Available WIRE HARNESS, MAIN

014 NLA Not Available WIRE HARNESS, MAIN

015 NLA Not Available WIRE HARNESS, MAIN


http://www.pwslaundry.com/c-298594-commercial-maytag-a21ca-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7796809-maytag-200846-washer-clamp-tub-cover.html
http://www.pwslaundry.com/i-7802293-maytag-596669-washer-dryer-clamp-manifold.html
http://www.pwslaundry.com/i-7797053-maytag-215058-washer-pad-cabinet-bumper.html
http://www.pwslaundry.com/i-127462-maytag-279347-washer-switch-lid.html
http://www.pwslaundry.com/i-7796831-maytag-204060-washer-agitator-w-cap-screw-and-washer.html
http://www.pwslaundry.com/i-788418-maytag-204445-washer-dryer-screw-and-fastener-assembly.html

016

017
018
019
020
021
022
023
024
025
026
027
028
029
030
031
032
033
034
035
036
037
038
039
040
041
042
043
044
045
046
047
048
049
050
051
052
053

213057
213081
213501
Y312718
213719
213720
214135
214433
214437
214493
214495
NLA
Y310632
910182
NLA
205484
205486
205529
214901
205997
206154
215120

205484

22001619

22213057

1163839
25-7809

Not Available
Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Plunger And Bracket
Assembly-W

Tub, Outer Part Not Used
OUTER TUB ASSEMBLY
TOP COVER (WHT)

Nut, Twin Speed

Bumper, Unbalance

Seal, Tub Cover

Washer, Bracket To Top Cover
Hinge, Ball Lid

Bumper, Lid

BARRIER, MOISTURE
Tube, Water Level Switch
Hose, Injector

Nozzle, Injector

Nozzle

Injector Tube With Seal
Sleeve- In

Cap, Dispenser

Screw, No.6-20 X 1-1/8 Inch
WIRE, CRATE

LEVER, UNBALANCE
Spring, Lid Switch

CLIP, FASTENER

Tube, Inlet Part Not Used
Bleach Inlet White

Rivet

Tube, Inlet To Tub

LID (WHT)

Screw

Screw, No.6-20 1/2 Flthd Torx
TOP COVER (WHT)

Tub, Outer Part Not Used
PART NOT USED

Nut And Bolt Kit For Tub Clam
LID-WHITE

Non-Bleach Conversion Kit
Injector Tube With Seal

Seal For Injector Tube


http://www.pwslaundry.com/i-127459-maytag-204968-washer-plunger-and-bracket-assembly-w.html
http://www.pwslaundry.com/i-7796860-maytag-205484-washer-tub-outer-part-not-used.html
http://www.pwslaundry.com/i-7796941-maytag-210866-washer-dryer-nut-twin-speed.html
http://www.pwslaundry.com/i-7796955-maytag-211223-washer-bumper-unbalance.html
http://www.pwslaundry.com/i-127471-maytag-211232-washer-seal-tub-cover.html
http://www.pwslaundry.com/i-7796963-maytag-211500-washer-washer-bracket-to-top-cover.html
http://www.pwslaundry.com/i-127466-maytag-211726-washer-hinge-ball-lid.html
http://www.pwslaundry.com/i-127470-maytag-212716-washer-bumper-lid.html
http://www.pwslaundry.com/i-788406-maytag-22001619-washer-tube-water-level-switch.html
http://www.pwslaundry.com/i-127473-maytag-213013-washer-hose-injector.html
http://www.pwslaundry.com/i-127474-maytag-213015-washer-nozzle-injector.html
http://www.pwslaundry.com/i-127477-maytag-216201-washer-nozzle.html
http://www.pwslaundry.com/i-788388-maytag-206154-washer-injector-tube-with-seal.html
http://www.pwslaundry.com/i-788391-maytag-22213057-washer-sleeve-in.html
http://www.pwslaundry.com/i-7796994-maytag-213081-washer-cap-dispenser.html
http://www.pwslaundry.com/i-7797006-maytag-213501-washer-dryer-screw-no-6-20-x-1-1-8-inch.html
http://www.pwslaundry.com/i-7805695-maytag-y312718-washer-wire-crate.html
http://www.pwslaundry.com/i-788407-maytag-213720-washer-spring-lid-switch.html
http://www.pwslaundry.com/i-7797022-maytag-214433-washer-tube-inlet-part-not-used.html
http://www.pwslaundry.com/i-7797074-maytag-215577-washer-bleach-inlet-white.html
http://www.pwslaundry.com/i-7802295-maytag-59920-2-washer-rivet.html
http://www.pwslaundry.com/i-7797025-maytag-214495-washer-tube-inlet-to-tub.html
http://www.pwslaundry.com/i-7796343-maytag-1163839-washer-dryer-screw.html
http://www.pwslaundry.com/i-7800426-maytag-25-7809-washer-screw-no-6-20-1-2-flthd-torx.html
http://www.pwslaundry.com/i-7796860-maytag-205484-washer-tub-outer-part-not-used.html
http://www.pwslaundry.com/i-788387-maytag-205529-washer-nut-and-bolt-kit-for-tub-clam.html
http://www.pwslaundry.com/i-7796869-maytag-205997-washer-non-bleach-conversion-kit.html
http://www.pwslaundry.com/i-788388-maytag-206154-washer-injector-tube-with-seal.html
http://www.pwslaundry.com/i-7797056-maytag-215120-washer-seal-for-injector-tube.html

	Maytag A21CA 04 - TOP COVER UP

